1. Which one of the following gases is

released mostly from landfills in urban
areas?

(a) Nitrogen
(b) Hydrogen
(c) Methane
(d) Oxygen

. Which one of the following is most
sensitive to environmental change?

{a) Amphibian
(b) Reptile

{c) Mammal
(d) Insect

. Which one of the following is the largest
source of electricity in India?

(a) Hydropower plants
(b) Nuclear power plants
{c) Thermal power plants

{d) Wind energy

. The HIV virus weakens the immunity of a
person because it destroys

(@) mast cells
(b) platelets

(c) erythrocytes
(d) lymphocytes

. Which one of the following air pollutants

combines with the haemoglobin of
human blood and reduces its oxygen-
carrying capacity, leading to suffocation
and may cause even death?

(a) Chlorofluorocarbon
(b) Fly ash

(c) Carbon monoxide
(d) Sulphur dioxide
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6. An irregular mode of reproduction

resulting in the development of an
embryo without fertilization is called

1. Parthenogenesis

2.  Apogamy

3. Sporophytic budding

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

fe) 2 and 3 only

({d 1,2 and 3

7. Which one of the following is not an

allotrope of carbon?
(a) Coal

(b) Diamond

(c) Graphite

(d) Graphene

8. In paper manufacturing, degumming of

the raw material is done using
(a) sulphuric acid

(b) Dbleaching powder

(c) caustic soda

(d} nitric acid

9. Dolomite powder is applied in some

agricultural lands. The purpose of
applying it is to

(@) increase the pH of the soil
(b) lower the pH of the soil

(c) increase the phosphorus content
of the soil

(d) increase the nitrogen content
of the soil
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10. Deficiency of fluoride leads to which one

of the following health problems?
(a) Tooth caries

(b) Mottling of tooth

{c) Bending of bones

(d) Stiffening of joints

11. Excessive use of which of the following

fertilizers may be responsible for the
presence of a toxic substance in
groundwater?

(a) Nitrogen
(b) Phosphate only
(c) Potassium only

(d) Phosphate and potassium

12. Which one of the following elements

does not form solid hydrogen
carbonate?

(a) Sodium
(b) Potassium
(c) Caesium

(d) Lithium

- 13. According to Census 2011, which one of

the following is the correct sequence of
States in decreasing order of their total
size of population?

(a) Kerala, Jharkhand, Assam, Punjab
(b} Jharkhand, Kerala, Assam, Punjab
(c) Kerala, Jharkhand, Punjab, Assam

(d) Jharkhand, Kerala, Punjab, Assam
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14. With reference to earthquakes, which of

the following statements are correct?

1. Earthquakes largely occur along
the converging plate boundaries.

2. Point of origin of earthquake in
lithosphere is known as focus/
hypocentre.

3. Intensity of earthquake decreases
with distance from the epicentre.

4. Epicentre of earthquake always
remains over continents only.

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 1, 2 and 3
(¢) 2 and 3 only
(d) 1 and 4

15. Which of the following pairs of Indian

State and tribal population are correct?
1. Madhya Pradesh : Largest tribal
population

2. Mizoram : Highest percentage of
tribal population out of the total
population of the State

3. Chhattisgarh : Second Ilargest
tribal population after Madhya
Pradesh

4, Arunachal Pradesh : Second highest
percentage of tribal population
out of the total population of the
State after Mizoram

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 4 only
fcg 1,2 and 3
(d 2,3 and 4
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16. The spring constant of a spring depends
on its
{a) length only
(b) material only
(¢) length and its diameter

(d) thickness, its diameter and its
material

17. In the gamma decay of a nucleus

fa) the mass number of the nucleus
changes whereas its atomic
number does not change

(b) the mass number of the nucleus
does not change whereas its atomic
number changes

(¢) both the mass number and the
atomic number of the nucleus
change

(d) neither the mass number nor the

atomic number of the nucl

changes

o1ra
“uUuo

18. In a bipolar junction transistor

(@) all the three regions (the emitter,
the base and the collector) have
equal concentrations of impurity

(b) the emitter has the least concen-
tration of impurity

(c) the collector has the least concen-
tration of impurity

(d) the base has the least concen-
tration of impurity

19. The pressure exerted by a 760 mm
column of mercury at 0 °C is known as

(a) 1 pascal

(b) 1 atmosphere
(c) 1 bar

(d) 1 poise
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20. Which one of the following physical
quantities has the same dimensions as
that of Planck’s constant h?

(a) Linear momentum
(b) Angular momentum
(c) Force

(d) Potential energy

21. Which one of the following statements is
not correct?

{a) The response of the ear to
sound of increasing intensity is
approximately logarithmic.

(b) The sensitivity of the human ear
does not vary with the frequency of
the sound.

fc/ When two or more waves
traverse the same medium, the
displacement of any element of the
medium is the algebraic sum of
the displacements due to each
wave,

(d) Longitudinal waves can travel in all

media—solids, liquids and gases.

22. Which one of the following hormones is
essential for the uptake of glucose by
cells in the human body?

(@) GH
(b) TSH
(c) Insulin

(d) Cortisol
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23. Which of the following cells do not

contain nucleus?

1. Root hair cells
2. Red blood cells
3. Platelets

4. Monocytes

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 and 3 only
(e 1,2 and 4

(d 2,3 and 4

24. Biological catalysts are protein molecules
which

1. speed up a chemical reaction

2. remain unchanged after reaction
3. function optimally at 37 °C

4, do not have an enzymatic activity
Select the correct answer using the code
given below.

(a) 1 only

(b)
(c) 2 and 3 only

1, 2 and 3

(d) 1,3 and 4

25. ‘Altitude sickness’ is caused at high
altitude due to
(a) high partial pressure of oxygen
(b)
(c)
(@)

low partial pressure of oxygen
low level of haemoglobin

high partial pressure of carbon
dioxide
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26. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-II

(Element) (Property/ Use)

A. Mg 1. Gives red colour to flame

B. Ca 2. Sulphate compound used

in medicine to examine the
alimentary canal of a
patient

C. S 3. Traps the energy of sunlight

in photosynthesis

D. Ba 4. Control of muscle

contraction
Code :
(a) A B C D
2 4 1 3
(b) A B (0 D
2 1 4 3
(c A B C D
3 4 1 2
(d) A B C D
3 1 4 2

27. Which one of the following statements is

correct?

{a) The oxidation number for hydrogen
is always zero.

The oxidation number for hydrogen
is always +1

(b)

The oxidation number for hydrogen
is always -1

(c)

Hydrogen can have more than one
oxidation number.

(c)
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28. In case of a standard hydrogen electrode

(a) absolute electrode potential is
not zero

(b) absolute electrode potential is zero

(c) both absolute and standard
electrode potential values are zero

(d) electrode potential is zero only at
25°C

29, The elemental composition of an adult
human body by mass is

faj C>0>H>N
(b) O>C>H>N
fc/ N>C>H>0
(d N>C>0>H

30. With regard to water transportation in
India, which of the following statements
are correct?

1. Headquarters of Central Inland
Water Transport Corporation is
located at Delhi.

2. Headquarters of Inland Waterways
Authority of India is located at
Noida.

3. National Inland Navigation
Institute is located at Kolkata.

4. First National Inland Waterway was
between Haldia and Allahabad.

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2 and 3

(¢) 2 and 4 only
(d) 1, 2 and 4

SDC-S-SND/1A

31. If the latitude and longitudinal extent
of an Indian State/UT is 15°48’00"' N
to 14°53’15 N and 74°20'13""E to
74°40'33’" E, then which one of the
following is that State/UT?

(@) Puducherry
(b) Chandigarh
(c) Goa

(d) Delhi

32. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-1 List-II
(Railway Zone) (Headquarters)

A. North Eastern Railway 1. Kolkata
B. East Central Railway 2. Bilaspur

C. South East Central 3. Hajipur
Railway

D. Sauth Eastern 4. Gorakhpur
Railway
Code :

(@ A°- B C D
4 2 3

) A B C D
3

1 2 4
0 A B C D
1 2 B 4
@@ A B C D
4 8 2 1

10
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33. Which of

the following statements

concerning atmosphere of the Earth are

correct?

1. In stratosphere, temperature
increases with altitude.

2, In mesosphere, temperature
decreases with altitude.

3. The lowest temperature of the
atmosphere is recorded in the
upper part of mesosphere.

4. Tropopause is an isothermal zone.

Select the correct answer using the code
given below.

(@)
(b)
(c)
(d)

1 and 2 only
1, 2 and 3 only
3 and 4 only
1, 2, 3 and 4

34. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Place) (Industry)
A. Bongaigaon 1. Paper
B. Koraput 2. Machine tools
C. Pinjore 3. Aircraft
D. Sirpur 4, Petrochemical
Code :
(@) A B ¢ D
4 2 3 1
(b) A B C D
4 3 2 1
(c) A B C D
1 2 3 4
d A B C D
1 3 2 4

SDC-S-SND/1A
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35.

Which one of the following is not a

tributary of the river Ganga?

(@)
(b)

Son

Mahananda

(c) Teesta

(d)

36.

Sharada

Which one of the following pairs of lakes

is connected by Soo Canal?

(a)
(b)
(c)
(d)

Superior and Michigan
Superior and Huron
Huron and Ontario

Huron and Erie

37. In total internal reflection, the light
travels from '

(@)

(b)

(c)

()

38. The

rarer to denser medium and it
occurs with no loss of intensity

denser to rarer medium and it
occurs with no loss of intensity

rarer to denser medium and it
occurs with loss of intensity

denser to rarer medium and it
occurs with loss of intensity

energy of a photon, whose

momentum is 10 MeV/c, where ¢ is the
speed of light, is' given by

(a)
(b)
(c)
()

10 MeV
100 MeV
1 MeV

01 MeV
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39. Liquids and gases never show

(@)
(b} paramagnetic property

diamagnetic property

(c) ferromagnetic property

(d) electromagnetic property

40. Light travels in a straight line (rectilinear
propagation of light). This statement
does hold if the medium of travel for
light is

(a) of variable refractive index

(b)

made up of slabs of different
refractive indices

(c) homogeneous and transparent

(d)

inhomogeneous and transparent

41, Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-IT
(Strait) (Water Body)

A. Strait of Hormuz 1. Java Sea

B. Strait of 2. Andaman Sea

Bab-el-Mandeb
C. Strait of Malacca 3.
D. Strait of Sunda

Red Sea
Gulf of Persia

:P'

Code :

(a)

=B

(b)

e

(c)

-
WWw MW W N
NO WO N WO
~g O SO

(d) A
4

——SPE-5-SNDf 1A
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42, Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-II

List-1
(Ocean Current) (Country)
A. Agulhas Current 1. Peru -
B. Humboldt Current 2. South Africa
C. Labrador Current 3. Argentina
D. Falkland Current 4. Canada
Code :
(@) A B C D
3 4 1 2

() A B C
4

w g

) A B C D

d A B C

w o

43. Which one of the following fishing
banks is located off the coast of the
United Kingdom?

(a) Great Fisher Bank

(b) Grand Banks

(c) Dogger Bank

(d) Reed Bank
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44. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

List-I List-II
(Power Plant) (State)
A. Satpura 1. Maharashtra
B. Dhuvaran 2. Uttarakhand
C. Tanakpur 3. Gujarat
D. Dabhol 4. Madhya Pradesh
Code :
(@) A B C D
4 3 2 1
(b) A B C D
1 3 2 4
g A B C D
1 2 3 4
d A B C D
4 2 3 1

45. Which of the following statements
regarding soil is/are correct?

1. Alluvial soils are rich in nitrogen
content.

2. Black soils are rich in iron and lime
but deficient in nitrogen.

3. Laterite soils are rich in iron and
aluminium but deficient in nitrogen
and potassium.

Select the correct answer using the code
given below.

(@) 1 and 2 only
(b) 3 only

{c) 2 and 3 only
(d 1, 2 and 3

_SDC-S-SND/1A
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46. Which one of the following statements is
not correct?

(@)

(b)

(c)

(d)

Position of the Sun, Earth and
Moon in a straight line of 180°
angle is known as syzygy.

Syzygy conjunction causes solar
CClipse.

Syzygy opposition causes lunar
eclipse.

Syzygy conjunction occurs at the
time of perihelion only.

47. Which one of the following is not related
to wind erosion?

(@)
(b)
(c)

(d)

Wind gap

Zeugen

Dreikanter

Demoiselle

48. Which one of the following is correct?

(@)

(b)

(c)

(d)

Guindy National Park is known for
tiger reserve.

Namdapha National Park is meant
for lion conservation.

Jaldapara is a biosphere reserve.

Rann of Kutch is a Wild Ass
Sanctuary.



44, -1 % g1 ¥ gafea Aifm ok gl & 46. T=fafaa § @ BF-91 ©F FoH T AE 27

= o Y Fe A TE R HE S gAY
(@) T, 3ot R = hi 180° HIV R Th
-1 TEh-11 @ @ f R gh-fef e
(Fereg, we) (T=a) (Reshifir) getrel ®1
% S e FE m) -l g F o @
B. ygawm 2. ITETS I 2 |
C. TTFE 3,
e () Fh-fagfa forg wigem ==-mem =
D. @+ 4, T HeW HRT B ‘
w2 | (@) IRl frg @dcm Faa swER %
@ A B C D T Bl §
4 3 2 1
bl & - B8 B
1 3 2 4 47. F=fafad & 4 FR-w T adR WE ¥
) A B C D e et 87
1 2 3 4
(@ A~ B C D (a) W FoR
4 2 3 1
(b) IH

45. ga1 % Gey A fefafad # & $9-91/3 HUA
we B /87 (c) ZrT

1. e gerd Ageie | 99E R Bl
d) Teramsa (e
9. e el dr o o ¥ wgs o @ & ; )
g g2 | B Bl 8 |

3. @ e |ie ok ghifem @ wgs 48. Frfafad § § P-4 TF U8 87
B T ArggeE iR uRem ¥ d.

Bl 2 (@) TUE e Tk, <R e % fw S
F fw Ty F2 F ERT W wE IW R Salie]
(@) % 1 3 2 (b) T Ao T, I FH wem F e R
(b) HaA 3
P (c) SeeTR UF Sfaguved e 2|
(@ 1,2%R3 (d) =S I 0] Teh ST T qYfIER R
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49. Which one of the following statements

concerning the natural vegetation of
India is not correct?

(a) Sal is found in moist deciduous
forests.

(b) Casuarina is largely found along
the coastal region of Tamil Nadu.

(c) Deodar is a coniferous species
of tree.

(d) Shola forests are found mainly on
the upper reaches of Himalaya.

50. Which one of the following statements

concerning research centres in India is
not correct?

{a) Rajiv Gandhi Centre for
Biotechnology is located at Kolkata.

(b) Central Arid Zone Research
Institute is located at Jodhpur.

{c) Centre for Social Forestry and
Eco-Rehabilitation is located at
Allahabad.

(d) Institute of Forest Productivity is
located at Ranchi.

- SDC-S-SND/1A
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Directions :

The following three (3) items consist of two
statements, Statement I and Statement II.
Examine these two statements carefully and
select the correct answer using the code given
below.

Code :

(@) Both the statements are
individually true and Statement II
is the correct explanation of
Statement I

(b) Both the statements are
individually true but Statement II
is not the correct explanation of
Statement I ‘

(c) StatementlI is true but Statement II
is false

(d) Statement I is false but Statement II

is t

1

51. Statement I :

The  Pahi-kashta peasants were
non-resident cultivators cultivating
lands on a contractual basis.

Statement II :

The Pahi-kashta peasants worked
under the temptation of favourable
terms of revenue or the compulsion of
economic distress.

52. Statement I :
The Zamindars were an exploitative
class in Mughal India.
Statement II :

The Zamindars often received the
support of the peasantry in a large
number of agrarian uprisings in North
India in the seventeenth century.



49, fafafgd sl 4 ¥ FH-w1 T vRa H
WThicrh SN o HeY H Hel T4l g7

(@) TS T8 qagre! 941 § I S g

(b) G sAfersiwa: qlierig % qe &3 %
HIY-|1Y 9] S R

(c) TEER, WFUR Sfd H1 TF U8 2|
(d) Tl o1 gead: ferrem % sl &= # T

S 2

50. Frfafas wodl § @ $H-91 T WRG &
IFEYH R dEy T wd TE 8?

(@ TShE e Sa fenfehl (FEeEr!)
¥g Pl A frE B

(b) HET TF & STIHIR AR SR H
@ #)

(c) wmERER aifehl iR waie-gHaE s
ERINEICR: RG]

(d) T oAl gEUH et 7 R R
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A :

Frafifaa & (3) v # & wH ¥, ®UA 1 IR
FOM I1. T A1 HUA T AEUHIEH e Hig iR
i fig T e 1 TE W TE IR gAY

E T

(@) TH Fo A¥a: T g, iR w1,
YA 1 1 T TIETHT B

(b) I Y HEM: A §, g wUA I,
YA 1 1 TEt TAETH AL 7

(c) HUF 19 B, Tohrg o 11 36 B

(d) HU 1 IEA B, Toheg o ﬁm'%

51. YA 1 :

“qrEt-shrra’ R AfE R 9, S 3%
(dferer) & R W A Sad )

Y II :

‘qré-Fea FREHT 9 STgEd TS I
dareE § W Aiies e f faawma 7 &M
e

52. FU1:
THIEAH W § SHICR Th Tweh 5 o1
FA 11 :

Tl vl § W WG A SR S T
¥ den # Ff el o feart W
gaeA Ty

[P. T. 0,



53. Statement I :

King Ashoka abolished capital
punishment and disbanded his army.
Statement II :

After Kalinga War, Ashoka was
remorseful and became a Buddhist.

54. Which one of the following does not

signify a battle tank?
(a) T-55

fb) T-155

fc) T-72

(d) T-90

55. Which of the following Gods are also

known as Lokapalas or the Guardians of
the Universe?

(a) Yama, Indra, Varuna and Kubera

(¢) Indra, Varuna, Yama and Brahma

(d) Yama, Shiva, Kubera and Indra

Which among the following Acts
were repealed by Article 395 of the
Constitution of India?

1. The Government of India Act, 1935
2. The Indian Independence Act, 1947

3. The Abolition of Privy Council
Jurisdiction Act, 1949

4. The Government of India Act, 1919

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 1 and 3 only
(¢ 1, 2 and 3 only
(d 1,2, 3 and 4

___SDC-S-SND/1A D O

57. On 26th November, 1949, which of the

following provisions of the Constitution
of India came into effect?

1. Citizenship
2. Elections
3. Provisional Parliament

4. Fundamental Rights

Select the correct answer using the code
given below.

(a) 2, 3 and 4
(b) 1, 2 and 3
(c) 1 and 3 only

({d) 1 and 2 only

58. Which of the following statements

regarding the Constituent Assembly of
India is/are correct? ‘
The Assembly  was elected

indirectly by the members of the
Provincial Legislative Assemblies.

—

2. The elections were held on the
basis of Universal Adult Franchise.

3. The scheme of election was laid
down by the Cabinet Delegation.

4. The distribution of seats was done
on the basis of the Mountbatten
Plan.

Select the correct answer using the code
given below.

(@) 1 only
(b) 1, 2 and 3
{c/ 2 and 4

(d) 1 and 3 only




53. FATI:

54

TETE AE A Fegeve 1 T H fe @R
3t BT B o AR fean)
S I1 ¢

el g YL AR G SR SIS
& T

. frefefiae & @ *9-w1 @ g8 % w1 TEd
3Tt 87
(@ T-55
(b) T-155
(c) T-72
(d) T-90

55. 3 WEHE H ¥ e dmaa @1 FEve ()

56.

F Terh o w9 H off S e 27
(@) ¥, 5%, TET IR Fe
(b) IR, T, Tha AR e
(c) 3%, TE, TH AR FEl
(@ =, fiE, For =R

Ffafag § @ T ofufedl =t 9Ra &
TRuR % =9 395 % gN FRe fe
™ °T?

1. g weer AfuftEm, 1935

2. WA TaFal AtEfEE, 1947

3. fufy wcfe denter v sfufeEm,
1949

4, ¥Rd @R AfufEd, 1919

= foT T R 1 T R FE IR M)
(@) FaT 1 AR 2

(b) s 1 R 3

(c) Fad 1, 23R 3

(d 1,2, 33R4
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57. 26 AR,

1940 H WRd & WAYR &
frafafad § & 9-8 wEuH @ ger

1. AR

2. Tafm

3. IRyl HHe

4. WfeH R

F= fow T e w1 T R T IR GAY
(@ 2,33M4

(b) 1,2 33

(c) HIA 1 R 3

(d) I 1 IR 2

58. WA < dfau™ G % o) § frafafe § @

oo /D =us e /e

R EA RN LY AN T GjC:

1. Wiy faum awstt % e i R s
Y Y 9T 1 =941 TR T o)

2. UENE U FAIURR F ATHRT W
e fee e 9)

3. @ H whm o frafor Hee Sfamem
ERRER IR

4. 3 1 Aol HIEEaeT AT F ATUR
¢ feparm TR o)

= feg T e 1 WM W wE IR gAY
(@) FFA 1

(b) 1,233

c) 23R4

(d) Faa 1 3R 3

[P.T.O.



59. Which one of the following statements is
not correct?

(a) Centre for Science and Environment
in a recent study found that a
number of commonly available
brands of prepackaged breads
tested positive for potassium
bromate and potassium iodate.

(b) Food Safety and  Standards
Authority of India recommended
to the Health Ministry to remove
potassium bromate from the list of
permissible food additives.

{¢) The Union Government banned the
use of potassium bromate as a food
additive on the basis of the above
recommendation.

(d) Potassium bromate is a neurotoxin.

60. Which of the following voted for Brexit
in June 20167

(a) England and Scotland

(b) England and Wales

(c) Scotland and Northern Ireland

(d} Wales and Northern Ireland

~ SDC-S-SND/1A
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61. Which one of the following statements
about reusable space vehicle of ISRO is
not correct?

(@)

(b)

(c)

(@)

In June 2016, ISRO successfully
launched India’s first reusable
space vehicle.

The space vehicle was launched
from Satish Dhawan Space Centre
at Sriharikota in Andhra Pradesh.

The reusable launch vehicle
climbed to a height of 65 km before
automatically steering back for
landing.

The vehicle was initially boosted by
a rocket that contained liquid fuel.

62. Which one of the following statements is
not correct?

(@)

(b)

(c)

(d)

BrahMos is a supersonic cruise
missile made by India and Russian
Federation. '

The name BrahMos came from two
rivers, Brahmaputra of Iridia and
Moskva of Russia.

Indian military scientists were
capable of integrating BrahMos
cruise missile with Sukhoi-30
MKI fighter.

Defence Research and
Development Organization is the
manufacturer of Sukhoi-30 MKI
fighter.



59. Tr=fafaa wuAl § A HA-91 % g & 77

(@ ToEm s gt & 3 e @ # feg
e UF AT § g g T @ 6 Y-
o (V) F AWIR W I TS
FEt ) e iy e o) arRirm
e % fau uifafea arn mm)

(b) A WTa YA Td e WO A
e @ diee 6 gl A | e
e Sl T 6 g @R qEed o
Eaf

(c) 39§ TEgfd T YR W R WHR A
R deE % ®9 A el dEe %
I ) ufdeteg TR

(@) DfrEm s T dienf (RefRE)
2

60. S 2016 ¥ Trefafan 3 & fFa-fra 3 fofRe
(Brexit) % T de feran?

(@) T8 HR Wiecis

(b) TS AR AW

(c) THizas 3 I MRce

(d) o8 AR I APS
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61. T (ISRO) % TA:9ISY SfaRe a6 & R §
Frferfaa § ¥ -9 T FoA wE TE 87

(@ ST 2016 H, R4 % YW THIEH
Faftg aed ® ISRO A HhAAH
ar= T

(b) TE Tafer dTed o7y WeW * ieRwre %
A e afa Fes ¥ A= TR
T o)

(c) G TG WA 9 § a8 qR=TeH
U qg YIS i 916 65 km
g A% I T 1)

(d) 9T MR T4 Y W 39 A Tk
E AT ST T o0
62. F=fiifiad ¥ QA -1 T wem 98 7t 37

(@) FEW, Tra AR g (PetE) Bw
Fififa w woeatis g1 e 21

(b) wEE T, Q@ T, TG B T AR
&4 o AIhal & T W @1 T |

(c) Wy &= i sEE R fAEEa @@
FE13-30 THo Ho 3o I&H & Y
FrTehfetd i | HweW 3|

(d) FEE-30 THo Ho o Yk I A
& STgEY 3R foemm WA B

[P.T.O.



63. Which one of the following sources tells 65. Match List-1 with List-II and select the

us about women protesting against correct answer using the code given

the infidelity of their husbands or the below the Lists :

neglect of the wife and children by the

male head of the household? List-I List-II
(Historian) (Book)

A. Sumit Sarkar 1. The Rise and Growth
of Economic
Nationalism in India

(a) The Kitab-ul-Hind

(b) Documents belonging to the Village B. Shahid Amin 2. A Rule of Property
Panchayats of Rajasthan, Gujarat for Bengal

and Maharashtra -
C. Ranajit Guha 3. The Swadeshi

Movement in Bengual,

(c) Sculptures from Mandor 1903-1908

D. Bipan Chandra 4. Event, Metaphor,
Memory—Chauri

(d} The Ain-i-Akbari of Abul Fazl Chaura, 1922-1992
Code :
. (a) A B C D
64. The All India Census was 3 4 5 1
1. first attempted in 1872 (b) A B C D
3 2 4 1
2. regularly undertaken since 1881
{c) A B C D
3. always undertaken as a five-year 1 2 4 3
exercise
d A B C D
1 4 2 3

Select the correct answer using the code
given below,

66. What form of Shiva is most prominent
in the Brihadeshvara Temple built by
the Chola dynasty?

(@) 1 only

(b) 2 and 3 only G et

fc) 1 and 2 only (b) Bhairava
(c) Rudra

(d 1, 2 and 3 (d) Tripurantaka

SDE-S- SN A - CCROR WP F—



63. Tfefigg # @ -9 d|, 9 g

TraeregR o foeg 71 Y Tewanht % g W=l
ol ueht o e+ foeg Afdened % g &

TR F A 87

(a) TFamE-3d-la=

(b) T, TSR 3R TERTg e g
Q gafta TEae

{c) ﬂﬁﬁiﬂﬁ%’l

(d) A BA I 375 -T-37eha]
64. 3Rad 9YRa STUHI

1. 1872 ¥ ygeh o) it T8

2. 1881 ¥ Faftd w9 4 Fi vt ®
3. Uoadly e1gTE % ®Y § A f S ®

A faw T 2 T R EE W R

(@) Fad 1

(b) FEd 2 3R 3

(c) A 1 3R 2

(d 1,2 %R3
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65. TE-1 1 G-I ¥ gafea i =ik gl %

F o e F2 1 T AR EE S gAY
-1 -1
(sfeeraen) (ge=)
A ghmEwR 1. 3 e U8 WY A%
SHII® ATATH §7 3ieAT
B. TEE PR 2. T & 37% W4l B &0
C. WNlaTg 3. g &R gahe 9 a1l
1903-1908
D. fam == 4. 3w, AR, AHR—aK

'656:
(@ A

(b) A

© A

(d) A

N

N

w11, 1922-1992

C D
2 1
C D
4 1
C D
4 3
c D
2 3

66. = Uwaw g Fiffa ggem #fR d fim =
HH-41 ¥ waifoe fafie 27

(a) TR
(b) #E

(c) F=

(d) Trgees
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67. The basic structure doctrine with regard
to the Constitution of India relates to

1.
2.

the power of judicial review

the judgment in Kesavananda
Bharati case (1973)

the constraints on Article 368 of
the Constitution of India

the judgment in  Golaknath
case (1967)

Select the correct answer using the code
given below.

(@)
(b)
fc)
(d)

1, 2 and 3 only
1, 2, 3 and 4
1 and 3 only

2 and 4 only

68. Which of the following fundamental
rights as enshrined in the Constitution
of India belong only to the citizens?

1

4,

Article 19 (Protection of right to
freedom of speech)

Article 21 (Protection of life and
personal liberty)

Article 15 (Prohibition of discri-
mination)

Article 16 (Equality of opportunity)

Select the correct answer using the code
given below.

(@)
(b)
(c)

1, 2 and 3
2, 3 and 4

1, 3 and 4

(d) 1 and 4 only

__SDC-S-SND/1A
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69. A citizen of India will lose his or her
citizenship if he or she

1.

2.

3.

4.

renounces Indian citizenship

voluntarily acquires the citizenship
of another country

marries a citizen of another country

criticizes the Government

Select the correct answer using the code
given below.

(a)

(b)

(c)

(d)

1, 2 and 3

2, 3 and 4

1 and 2 only

1 and 4

70. Which one of the following statements
is not correct with respect to protection
of individuals being tried for offences?

(@)

(b)

()

(d)

A confession can never be used as
evidence against the accused.

The accused must have violated an
existing law.

An accused cannot be tried and
punished for the same offence
again.

The quantum of punishment must
be provided in law as it existed
on the date of commission of an
offence.



67. WRd % GlUH % Ty § gy WA A R

Tag f
1. e gRaded @i it
2. FYEH< 9 gH (1973) #§ fofa

3. 9Ra ¥ UlRyH % geHe 368 W
EICGI

4, TR " (1967) B ol
R fow w52 1 T R wd W g
(@) T 1, 2 3R 3

(b) 1,2, 33X 4

(c) a1 3R 3

(d) Fad 2 3R 4

; vt fefaias
68. Wg ¥ ufyum © uhmifie fe=fafes d @

ML

P-4 Hifs ARER Fad e §

aftra 87

1. =88 19 (3% WA % HEFR
TRE)

2. = 21 (S 3R e T
&)

3. gwe 15 (fave =1 wfmy)

4, Ag=oT 16 (T8 h FHd)

Hr fow U e 1 TEm W EE IW AU
(@ 1,2 3R 3
(b) 2,3 3R 4
€ 1,334
(d) Fad 1 4
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69. WRA 1 WHIE AN A TEResar @ o,

Ife I8 Bare,
1. SR TPTieRdT o1 9iedm i 2

2. o ¥ fEd 1= Tw i ArIiEhdT g™
Exnii

3. e 3= 29 % i 9 faar X @
4, R F ATAEAT T 8

R faw T e w1 TET FW FE IR gAY
(@ 1,23M3
(b) 2,334
(c) Haa 1 3 2

(d) 134

70. FGUEl % fou femmor fre w1 ® =RE #

wen % way § frefafed 7 @ 9-w
EDC R F

(a) 3AY-THH B ANGE & Towg wed
% w9 7 Fft off Ty T R S weRan)

(b) AfEE I3 Frdl ASEl F0 F ERE
IgeA T &)

() T sy % fag R A sifgs =
Teremeor €1 foman < weRan ofR &= &l &
EIR:EGI

(d) G AT FHEA B o € g A IR
T Ay B F fE W s
foremm =1

[P 10



71. Neil O’Brien, who died recently, was a 74. Who among the following won the Men’s
famous Singles Title in the Australian Open
Tennis Tournament, 20167
(a) journalist

(@) Jamie Murray
(b) billiards player

(c) dramatist (b) Bruno Soares

(d) quiz master (c) Novak Djokovic

d) Andy M
72. Consider the following statement : {4 oL aRTey

“If you feel you are trapped in a black

hole, don’t give up. There is a way out.”
75. Which of the following statements about

Who among the followirig made the the philosopher Shankara is/are true?

o)
above statements 1. Shankara espoused a form of

Vedanta called Advaita.

(@) Alb@rt Bifistetn 2. He elaborated on the philosophy

of Gaudapada.
(b} Stephen Hawking

3. Shankara tried to demonstrate that

(¢) C. V. Raman the Upanishads and Brahmasutras
contain a unified, ' systematic
(d) Abdus Salam philosophy.
4. Shankara founded the Amanaya
Mathas. '
73. Recently the Government of India cleared
the proposal for the production of Select the correct answer using the code
18 indigenous ‘Dhanush’ artillery guns given below.

to be produced in India by
- fa) 1 and 2 only

(@) Indian Army
(b) 1,2 and 3

(b) US Army
(c) Indian Ordnance Factory Board (c) 3 and 4
(d) Indian and US Army jointly (d) 4 only
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71, fa s, T A A R TG B}, @

EIEE

(@) TIHR I

(b) Teoferad & faaret 9
(c) Tk &

(d) TEA WRR 3

72. Tfafaa s w fomm Fifsw

“afe syl @ o6 g R s B9 B
T B, 9 8’ 7 HHEI | 36 qaE 2l

30 e T 9 feee foan on?
(a) ¥ AREN
(b) TEHA EIRT
(c) Hio flo TH

(d) HsgH HcTH

73. T & H WA WK 4 18 Wt ‘ugw’

Hgh! o ITE F T R B SIgANd @ 2
T Ic9Ted ARd H foraeh g fohen smom?

(@) ST BT
(b) Fo THo T
(c) WRAE Y Haeht A

(d) TR 3R Fo THo T E TYH €9

SDC-S-SND/1A

74, AEfoma 3w 2w @i, 2016 ® gE THA

1 fRaame g1 | fraa Sitar &7
(@) S TR

(b) T HRE

(c) aeh SeRifa

(d) TR

75. Tefafgd § @ BH-91/8 FeH SIS TP F

o & e B/87

1. o 9 9Eid % U &Y, 8 3780 @ed §,
=1 grdq e

2. TEuE % &3 6 IR e 6

3. e 4 98 THIUE A R @ TR TR

Iufug 3R SERE W U dieiferd, e
oYl e Bl

4, YR A AHEE A3 Y T i)

H= few e e w1 W W wd IR gRw)
(a) a1 3R 2

(b) 1, 233

(c) 334

(d) F9d 4

[P.T.O.



76. Which of the following statements about

the Deccan Riots of 1875 is/are true?

1. The Deccan Riots resulted in
protection for peasants through
the Deccan Agriculturalists Relief
Act of 1879,

2. The riots did not spread to the
whole of Maharashtra because of
prompt suppression by the British.

3. The British were unable to contain
the riots and they spread
throughout Maharashtra.

4. The cotton boom in the Deccan
that had been caused by the
artificial demand generated by the
American Civil War caused the
impoverishment of the peasants.

Select the correct answer using the code
given below.

(a) 1 only

(b) 1 and 3

(c) 2 and 4 only
(d 1, 2 and 4

77. Why are the Gypsies regarded as of

Indian origin?

1. They follow Indian religious
practices.

2. Their language, called Romani, is
an Indo-Aryan language.

3. They believe that they came from
India.

4, Epigraphic evidence locates their
original home in Uttar Pradesh.

Select the correct answer using the code
given below.

(a) 1 and 4 only

(b) 2 only
fc) 1,2 and 4
(d 2 and 3

-~ SDC-S-SND/1A— 30—

78. The term Upari refers to which one of the

following?

(a) A category of proprietary tenure
under the Mughal rule

(b) A category of tenancy tenure under
the Maratha rule

(¢c) A soldier in the Maratha army

(d) A village headman in the Mughal
period

79. The ‘water frame’ of Richard Arkwright

was a device for

(a) producing a new type of painting
(b) irrigating fields for rice cultivation
(c) producing strong threads of yarn

(d} the faster movement of steamships

80. The ‘four great needs’ of the people as

identified by the Guomindang were

(a) clothing, food, housing and
transportation

(b) education, food, housing and
health care

(c) food, housing, education and
employment

(d) employment, housing, education
and health care



76. Frefafiad § | F-91/8 %24 1875 & &

0 % v § ¥ /a7

1. T&1 % <N o IRUTHEAEY G P
Ted afufrm, 1879 % W @ fram
1 geaq firedt |

2. IS % AIEHITE THA F HRO G R
ey # & Tt |

3. S 4 A T H ewEAd ¥ IR
TerE # 57 % T

4. TEA H wUE § wEE gfe, ol 5
Tegs, ¥ 3099 HHA AT % FRU g oA, A
Fopamt 1 e R fen

= T T g2 1 FE R EE W G
(@) Had 1

(b) 13R3

(c) Fad 2 3N 4

(d 1,234

77. &R (Frefl) < wrdm q@ w0 =@ wHE

T 87
1. A 9rRdE fifes famsi 1 aed $d 8

0. TR 9, S A FEemdl B, Th
TRATT AT T R | _

3. 3% Y8 foum ® % 9 wm@ @ Mg
L

4, QU HiEd IR HIfE T8 IH W
H i e 1

R g 7T %2 1 IER W E@ W AT
(@) A 1 3R 4

(b) Had 2

() 1,234

(d) 23R 3
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78. ‘Uit g Ty=fefa # @ fre & & w9y A

??

(@) T WEA F 3HE Wi R A
w6 Al '

(b) BB IMEH o LA FHARR) ATHR =l
e Foft

(c) WS BN # U A

(d) T F@ § T T gRaE

79. T=E muge & T B9 R FE & e

afF o7

(@) T gHR T % fore

(b) =TEA H WA 7g wal R % fog
(c) | % A 9P S fog

(@) aTg-=fad it 1 s R % ferg

80. elifem g Fuff@ swar A =W el

FaEHAY, o off?

(@) HIST, @HT, T AR GfEs=
(b) Torem, @M, W AR W@ W
(c) @I, =, foen 3R TP

(d) AR, W, frem IR @ wn

[P.T. O.



81. Which one of the following was the earlier 85. Which one of the following is the highest
name of Tokyo? altitude zoo in the world?

(a) Osaka (a) Cheyenne Mountain Zoo

(b) Kyoto (b) Pandit G. B. Pant High Altitude Zoo

© S i (c) Himalayan Zoological Park, Gangtok
c amurai

{dj Padmaja Naidu Himalayan
(d) Edo Zoological Park
82. The epic, Silappadikaram refers to the 86. Which one of the following statements
about the Missile Technology Control
(a) story of Rama Regime is not correct?

(a) The Missile Technology Control
Regime is an informal and

(c) culture of Sri Lankan Buddhists voluntary  partnership initially
formed among G-7 countries.

(b) Jaina elements in the storyline

() eule gt Shakh Worship (b) Members of the Missile Technology

Control Regime prevent the
proliferation of missile and
unmanned aerial vehicle technology
capable of carrying above 500 kg
payload for more than 300 km.

83. Rakshasa type of marriage is

(a) marriage by purchase

(b} netriage by capture (c) China applied to join the Regime
. . but members did not offer the
{c) marriage by giving dowry HerBERSHIE.
(d) marriage by seduction (d) No other country outside the
membership follows the Regime
rules.

84. Who among the following was defeated by
Chile to won the Copa America Football
Championship, 20167 87. The first Tejas squadron of Indian Air
Force consists of
(a) Colombia ' _
{a) 20 aircrafts with 4 in reserve

B/ Elzgrmine (b) 100 aircrafts with 10 in reserve
(c) Ecuador (c) 20 aircrafts with no reserve

(d) Peru (d) 25 aircrafts with 5 in reserve
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81. Frefafan § 4 B TH, T W WA 85. PeRad § A He-w R = g e

qTH o917 Tafeamrr 37

(@) ST (@) T wda fafamr

(b) TR (b) dfea sfto o 4a 3= grman Fafeamr

(c) EHE (c) Tewrem wift 3em,

(d) @& (d) v g e Wit 5w

82. TR Hlewiay ThEd delt 27 86. frfafad el # ¥ wm-w wh, frwww

Wrenfieht s yored & fawa § ad =8 27

(a) T 6 FHEF :
(@ Trma defht fEso gl o

(b) FAFE H I T i 3R Wfess wREd &, S

ARY § G-7 =2 & o= s+ o)
(b) TrEmEe Wenfeh fesm et % v

(c) TR % oG] h TG

(c) R TG B G-FE 300 km ¥ I % R 500 kg ¥
Al SN®-IR & S A wem i
83. T&H TR F T B el il e i
T T I9eH §H I Ushd ¢
(e EETRED
(@ T forTe (¢ < 3 @ womh # i Y ¥ R
(b) & SRR TR T Tt wiee T, oig wew 3 3@ weE
BRI
(c) e e T e foame
| (d) WEE % A FE A I TOUA *F
(d) wENR TR R T fem et %1 e e R

84. WU NG Feaia IFARM, 2016 Sfa =+ 87. ST T8 o1 Ygell dom e (3at) Rrad

o feedt g0 freferRaa & @ ford s man? Rt 71 27

(a) e (@) 20 e it wy § 4 fiod R

(b) TSI (b) 100 fmm i @ § 10 Ao REm
(c) FHER (¢) 20 Toum IR Wy & FE e fomm ==
(d) UE | (d) 25 famm ik @ § 5 fiod faum
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88. The headquarters of ‘Economic and

Social Commission for Asia and the
Pacific’ is located at

(a) Singapore
(b) Manila

(c) Bangkok
(d) Hong Kong

89. Which of the following with regard to the

term ‘bank run’ is correct?

(a) The net balance of money a bank
has in its chest at the end of the
day’s business

(b) The ratio of bank’s total deposits
and total liabilities

(c) A panic situation when the deposit
holders start withdrawing cash
from the banks

(d) The period in which a bank creates
highest credit in the market

90. Which of the following will be the

outcome if an economy is under the
inflationary pressure?

1. Domestic currency heads for
depreciation.

2. Exports become less competitive
with imports getting costlier.

3. Cost of borrowing decreases.
4. Bondholders get benefitted.

Select the correct answer using the code
given below.

(a) 1 and 2

(b) 2 and 3

{c) 1 and 3 only
(d 1, 3 and 4
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91. According to the Classical Theory of

Employment, deviations from the state
of full employment are

(a) purely temporary in nature.
(b) permanent in nature
(c) imaginary situations

(d) normal situations

92. Capital deepening refers to

(a) going for more fixed capital per
worker

(b) emphasis on social overhead
capital

{c) constant capital-output ratio

{(d) increasing capital-output ratio

93. Which one of the following statements is

not correct with respect to Article 32 of '
the Constitution of India?

(a) 1t provides remedies to citizens for
the enforcement of fundamental
rights.

(b) It is a part of fundamental rights,

(c) The Supreme Court cannot refuse a
writ petition under Article 32 on the
ground of delay.

(d) Protection under Article 32 also
applies to the enforcement of
ordinary law which has nothing to
do with the fundamental rights.



88. ‘TEMAINE Ue dme wHivd %R R i T

89.

A’ 1 TR el e 27
(a) Ty
(b) T
(c) SHH

(@) & H

‘T @ = % gey ¥ ffafed § @ =9-w

el 87

(@ R T F Fawr gam N R R S
# T d o= i 3 W At

(b) Tl S &% T 1 R Fa @A F

T

(c) TF WIS hl Feufa & ST o o 9
A Freperar gE = 2

(d) =% aiy Rl # S aeR § =
Hige T A

90. It wHh fegaryr Thifawrr) 9@ F wia B,

q Frefefad & ¥ #9-1 fom e

1. o G5 I AT BTl |
2, @ HEm B % Wy i wfeaeht
Eul

3. YR @A 6 G 9 Swf|
4, die ues WG g

i fog g e 1 AN FW W IW gAY
(@ 132

(b) 2 3R 3

(c) % 1 3R 3

(d 1,33M4
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91. TSR & awetaeht fogia & o1gar, o TSR

H sraeen ¥ fraer R yR % A 87
(@) SFA T gl &9 9 Rrh

(b) FEH Tl

(c) hIedleh T

(d) G T

92. Ysft werfientor @ 3fgfad st &7

(@) fd FFR At Fra s 81
(b) | Sl gl o
(c) TR gshi-3eure 3rgurd

(d) &g @1 Ysi1-3Icq1e T

R el B S B e e

Hfaem % argeds 32 % ey ¥ Wl 7E 27

(a) T8 AR 9 Aifersr ARl % vadq &
fou 3umg wem = )

(b) & Micrr ARl 1 T fewm )

c) IT=82 32 & TqEd, 30 & MUR W
Ioad AEeE el e gt =
FEATHR T L Tl |

(d) ¥TI=HT 32 % TEq GR&, WHRY FHMI
AT EH R of T B 2, e difers
AR | FIE 99 T2 B

[P.T.O.



94, Which one of the following writs is issued 97. Which one of the following statements

by the Supreme Court to secure the is not true of the Protection of Women
freedom of a person upon unlawful from Domestic Violence Act, 2005?
arrest?

(a) This Act provides civil remedies
to protect a woman subjected to

a) Habeas Corpus
(a) = TP domestic violence.

(b) Mandamus (b) Only women can make a complaint

under this legislation.
Certi i ;
(© SHECHAR (c) Relief may be sought only against

(d) Quo Warranto the husband or a male live-in
partner with whom the woman has

lived in a domestic relationship.
95. According to the provisions of the (d)

Constitution of India, which one of the
following is not a fundamental duty?

The Act includes not just wives
but also women in marriage-like
relationships.

{2} Tersespenk s Nakonl Ko 98. Which one of the following statements

(b) To defend the country is not correct?
(a) Creation of National Investment
(c) To provide education to one’s child and Infrastructure Fund (NIIF)
: was announced in the Union
(d) ';‘r?du;;i;r:sote village and cottage Budget; 2015-16;

(b) NIIF is a fund for enhancing

infrastructure facility in the
96. Under Article 352 of the Constitution country.

of India, an emergency can be declared (c)
if security of any part of India is
threatened by

NIIF and NIF (National Investment
Fund) are the names of the same

organization.
. ‘wax (d) NIIF can have more than one
2. external aggression alternative investment fund,

3. armed rebellion 99. Which one of the following is not correct

4, internal disturbance in respect of Andaman and Nicobar

AAAAAA (=810 4

Select the correct answer using the code
given below. (@) It is the first integrated theatre

(@ 1,2 and 3 command in India.

(b) Its headquarters is at Port Blair.

(b) 2, 3 and 4 (c) It is commanded by a three-star

(¢ 1, 3 and 4 officer.

(d) It was set up by the British during
({d) 1 and 2 only the Second World War.
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94. Tfafad § ¥ FFA-w v orew, R =afe

H -FLH T TG AL TH R, I6H
TEaad ghHféa # & fre I=am = gh
< foren T 27

(@) =< Foasfeo (afera wide)
(b) TR (HSwH)

c) I (HfERR)

(d) IfYFER-T=3] (P 9H)

95. WRA % WAL % YE9Hl & IgaR et

T Y HH-91 T At Hosd T8t 27
(@) TRESS 1 T FHAT

(b) g 6 Aferem e

(c) 9 =T ! 18T YGH AT
(d) TTH TE FER AT B TedTed 1

96. YRd & UHYH % 3Igeds 352 % @i,

TRl hl SO B ST Hehd) B, Ife |
% Forelt w1 it e A @ A

1. g9

2. fagsft stepqur 9

3. WYE 9Ed °

4, i U5 W

F=r fow T e w1 TEI R TE IW g
(@ 1,2 3MW3

(b) 2, 3R 4

(¢ 1, 33 4

(d) Faa 1 3R 2
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97. Fr=fafad HoAl ¥ ¥ FH-W &, W oo

Afgen wrewr sAfufEm, 2005 # favwm § @

& 87

(@) I AfufEm wiq fem =1 Reer g8 B
Afge A GRaT Yo A b ferg Aenfaes
I T TS Al 2

(b) T HIT H Ila hee AR @ HE
Treprara =1 o wehdl §)

(c) Fa@ ufd AYS ¥ ® W eV aefi,
oo w1 afeen % wiierfes @69y @ €,
% foeg & wsa it s wedt 1

(@) I8 AW Faa ufeE w1 @ T
e Al B, dfcn foarg-S9 gadi §
& arefl Afgemd «ft 366 ofaia ot B

98. FmfaRad weml # A - w 9 7 27

(@ W FEw @ suie =N @
(NIIF) & g5 & oo gy =2,

2015-16 ¥ i TE|

(b) NIIF T& UHT &9 §, S 39 § i
HEAT Glaunstt ) seM % fo §)

(c) NIIF 3R NIF (W= fEw &) &
T & M B

(d) NIIF ® T&% ¥ e aepfcus e =y
B " B

99, fr=afafad # ¥ Fm-u1 ©, igam o R

FUE & Gy gl TE 7

(@) TE VRA ! TgH! Tehiha He& FIH 2|

(b) TEH GEATEHE U SRR | B

() T& Th dH-Taamn eresdd et gm
TR g g

(d) R T SN ER fid faw 3w %
4R 1 TS ot

[P.T.O.



100. Who is the Chairman of the Chiefs of
Staff Committee?

(@) The Chief of Army Staff

(b) The Chief of Naval Staff
() The Chief of Air Staff

The member who has been the
longest on the Committee

(d)

101. Jammu and Kashmir Rifles is

(a) an infantry regiment of the Indian
Army

(b) a battalion of the Rashtriya Rifles

(c) the name of the Armed Police of the

State of Jammu and Kashmir

(d) a paramilitary force under the
Ministry of Home Affairs

102. Which one of the following is correct?

(a) Infantry Regiment is also known as
the Mechanized Infantry Regiment.

(b) Corps of Electrical and Mechanical
Engineers is subsumed in the

Corps of Engineers.
(c) Army Medical Corps and Army
Dental Corps are two divisions of
the Army Service Corps.
(d) Army has its own Corps of Air
Defence.
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103. Which one of the following is not one of

the Commands of the Indian Army?

South Western Command

(a)
(b) North Eastern Command
Central Command

(c)

(d) Army Training Command (ARTRAC)

104. Which one of the following statements
is correct?

(a) The rank of Second Lieutenant has
been abolished. :

(b) The Chief of Army Staff carries the
rank of Field Marshal.

(c) All officers posted to Andaman and
Nicobar Islands wear the ranks of
the Indian Navy.

(d) The rank of Major General is higher

than the
General.

rank of Lieutenant

105. Which one of the following is not an
Air Defence Missile system?

(a) Akash
(b) Trishul
() Tatra

(d) Astra



100. W% Gl & Y@l 1 Aeme w4 87 103. frfafad # ¥ S-w1 T wRA™E ¥ F FAA
o ¥ Th FAH TE 27
(@) IR WIF 6 TGE
(a) Tfeqor-ulsrd wum
(b) BT WTH T THE ;
(b) IL-YEl HAH

%
(¢) TR T 1 @ B BB

(d) 98 T5H, S gufg I ged ifte o

Mok (d) 8= UV FAH (ARTRAC)

104, T=fafad # 4 SH-W T %o wdl 87
101. <7 3R YR Ushed o1 77

(a) ¥hs Wffede & we & @AW

(a) W BT S U Yt o R ™R s
(b) TER g 1 T Ml (i) (b) ¥ W H @, Gieg Al i i
1 B ®
(c) 7 3R FHR T & WE o
T (c) ISR N FeER FTEE W UEE
adft Afterrlt s e Y veet fog
(d) T T % i TH Wdfe e G

(d) BSR SRS B 9E, Affee TR & I8 o

102, FrefEn § & B wE & i
(@) o e @ T A S 105, e # § 9w, g s vd
T 1L S woTTeht T &7
(b) ¥ @R AitE @ % wR W by G
arfimra s ® wfdfaa form mn §
(b) T
() = Fafem #x ok ¥ < WR, ¥
Ja1 B+ < Tedlism B (c) =
(d) &1 o Fft Ay g R R (d) ==
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109. Who

106. Which one of the following statements is

correct with respect to the composition
of national income in India?

(a) The share of manufacturing sector
has declined.

(b) The share of services sector has
increased sharply.

(c) The share of agriculture has
remained static.

(d) The share of services sector has

declined.

107. In India, the term ‘hot money’ is used to

refer to

(a) Currency + Reserves with the RBI
(b) Net GDR

(c) Net Foreign Direct Investment

(d) Foreign Portfolio Investment

108. Which of the following is/are credit rating

agency/agencies in India?

(a) CRISIL
(b) CARE
(c) ICRA
(d) All of the above

among the following is the
Chairman of the Fourteenth Finance
Commission?

(a) C. Rangarajan
(b) Vijay Kelkar
{c) Y. V. Reddy
(d) Rakesh Mohan
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110.

The members of NAFTA are,
(a) USA, Canada and Mexico
(b) USA, Canada and India
(c) USA, Canada and Japan
(d) USA, UK and India

111. Which of the following are constitutional

provisions and laws for the protection
of the rights of the Scheduled Castes
in India?

1. Article 17 of the Constitution of
India

2. The Protection of Civil
Act, 1955

3. The Scheduled Castes and the
Scheduled Tribes (Prevention of
Atrocities) Act, 1989

Select the correct answer using the code
given below.

(@) 1 and 3 only
(b) 1 and 2 only
(¢ 1,2 and 3

(d) 2 and 3 only

Rights

112. Which one of the following is not true

about the powers of the Supreme
Court? '

(a) The Supreme Court has original
and exclusive jurisdiction in inter-
governmental disputes.

(b) The Supreme Court has advisory

jurisdiction on a question of law or

fact which may be referred to it by

iln Dencidamté ~F T Ad
L€ rI€siafrit 1 indaia.

(/) The Supreme Court has the power
to review its own judgment or
order.

(d) The Supreme Court has the

exclusive power to issue writs to
protect the fundamental rights of
the people.



106. Ra ¥ THF 3™ F "y & gey A Frafafen

H ¥ FH-T1 TF FF TE 87

() Tt & % siw & o g 2
(b) @ & % W H i IRE EE ¢
l(c) F 1 379 fOR 7 goT 71
(d) & &= % 37w § i g R

107. ¥Rd # ‘Ivamdl 54 (8T W)’ wes forash e

# wogeh o e &7

(@) GAT + Mo o 350 & yRfara Fify
(b) & Sfio Elo ARo

(¢ 3% foaesh vy fam

(d) fasft demfe fem

108. WRa ¥ $hiee Fufr weidh/wiftat ffafaa §

Y P-4 B/27
(@) CRISIL
(b) CARE
() ICRA

(d) g asf

109. S § %H Sged ford oA & ey 87

(a) Hto TRH
(b) T SRt
(c) o =fto ¥
(d) T HEA
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110. THo Wo THo o To & HIH &

(a) Fo THo To, FHTST AR A
(b) Fo THo o, TSI 3R WA

(c) o THo To, FATST 3R SUH
(d) Fo THo To, Yo ho 3R WA

111. WA # ggfaa snfeet % Al 6 geen &

fog Frfafea # 4 *F-8 9duts gaue
R FH 87

1. WG % Gfaum &1 ag=ss 17

2. WMRe AR Wan erfyfem, 1955

3. IgHfya Sfqal SR eTgHiad St
(1R faro) sfifem, 1989

2 R T % 1 E W Eh S ghe)
(@) FaA 1R 3

(b) ae 1 R 2

(¢ 1,23R3

(d) Fa 2 IR 3

112. 38 <EE 6 R & fawg 7 etk

T q HH-91 Th g4 78 87

(@) Faie faedl § = <=men 1w
3R I FATRIGR @ 2|

(b) =M EEE FI b T yar T
9 W, S WA % TPl gR 3 e
TR T B, HelTERR TR T § |

(c) =W <ATeE 9w st fofy @ etRw
W gAGER i 6t w1iE W@ 2

(d) S % A ARl f e $ T
e S A hl I3 o I=an
e % 99 B

[P DO



113. The Sixth Schedule of the Constitution of
India pertains to the administration of
tribal areas in which of the following
States?

(@)

(b)

(c)

(d)

Assam, Meghalaya, Tripura and
Mizoram

Meghalaya, Tripura, Manipur and
Mizoram

Assam, Manipur, Meghalaya and
Tripura

Manipur, Meghalaya, Tripura and
Arunachal Pradesh

114. Which one of the following statements
with regard to the Ninth Schedule of
the Constitution of India is not correct?

(@)

(b)

()

(d)

It was inserted by the Constitution
(First Amendment) Act, 1951.

The Acts and Regulations specified
in the Ninth Schedule shall become
void on the ground that it violates a
fundamental right in Part III of the
Constitution.

The Supreme Court has the power
of judicial review of an Act included
in the Ninth Schedule on the
doctrine of basic structure.

The appropriate Legislature can
repeal or amend an Act specified in
the Ninth Schedule.
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115. Consider the following statements about
Harappan cities :

1.

Roads were not always absolutely
straight and did not always cross
one another at right angles.

A striking feature is the uniformity
in the average size of the bricks for
houses and for city walls.

Which of the statements given ahbove
is/are correct? '

(@)
(b)
(c)
(d)

1 only
2 only
Both 1 and 2

Neither 1 nor 2

116. Match List-I with List-II and select the
correct answer using the code given
below the Lists :

O 0w

List-1 List-II
(Term) (Meaning)
Kurinchi 1. Pastoral region

Palai 2. Seashore
Neytal 3. Arid region

Mullai 4. Mountainous region
Code :
(@) A B C D
1 2 3 4
(b) A B C D
1 3 2 4
(c) A B C D
4 3 2 1
(d) A B C D
4 2 3 1




113. 9Rd & wiauH &l 33 Tgge Frfataa 3 |
fF Tl § ST & W | gey
Tt 37

(a) rEm, AuTe, Fgu iR A

(b) TETeHE, Frga, B iR s

(c) 3TEM, WG, HeTer™ AR Bgu

(d) WG, Femer, P it STt won

114. 9Rd & "W H A& TgEgE 6 w9y A
frafafad 7 @ SF-91 w %o w8 7 87

(@ T GREum (vom "meE)  srfifem,
1951 % Ty § Gieyfaa fomam mm o)

(b) At R # fafifde #% afufem o
faferH 38 SuR W = @ Smen %
IB dfaum & o9 I & fRd difas
SEHR 61 IFE T 2

(c) el weem < fhgra o el gl §
it feet srfirfem & =i gdem
£ wifth = =ETEE % 99 )

(@) i ergest § faffde frd aifyfaem
9y faurmea e @ it =
ol 2|
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115, 8891 & WU & Hey # Fmfafas st =
ﬁﬁl‘Rﬁ%ﬂl:

1.

TSk THI g e ¥ el T wrd off
AR TH-gE H FAI GEROT WAL
hredt off |
Th YR famwar @8 @ fop wd 3iR
T F AR f 2 F1 eiHd R
THATH B

S ol B A AA-an/d E 2/A

(@) Had 1
(b) Had 2
(c) 132N
(d A 1AAE 2
116. H=-1 =1 g1 @ gafoa Hifse ok gimt &
i 13T 71T He 1 T w EE W gAY
1 1
(v1s) (31eh)
A. it 1. =ROTE &
B. UdT3 2. HYETE
C. Ta 3. Y&
D. Tgs 4. vadg &
HE
(@ A~ B C D
1. 5+« 8 .4
() A B C D
1 8§ 2 4
0 A~ B C D
4 3 2 1
d A B C D
4 2 &° 1

(BT O,



117. Which of the following statements with

regard to the conduct of elections in

India is/are not correct?

1. The responsibility for the prepara-
tion of the electoral rolls is vested
in the Election Commission of
India.

2. The Model Code of Conduct comes
into existence as soon as the date
of the election is announced.

3. The laws relating to delimitation of
constituencies are made by the
Election Commission of India.

4. No election shall be called in
question except by an election
petition.

Select the correct answer using the code
given below.

(a) 3 only
(b) 1, 2 and 4
(¢ 1,2 and 3
(d) 4 only

118. Which one of the following statements

with regard to the National Commission
for Scheduled Tribes is not correct?

(a) The Union and every State
Government shall consult the
Commission on all major policy
matters affecting Scheduled Tribes.

(b) All the reports of the Commission
and its recommendations shall be
laid only before Lok Sabha.

(c) The Commission, while investiga-
ting any matter, has all the powers
of a Civil Court.

(d) The Commission has the power to
regulate its own procedures.
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119. The right to form associations and

unions is a right

(a) guaranteed to everybody

(b) to freedom guaranteed to citizens
only

(c) to equality before law

(d) to life and personal liberty

120. Some Indian territory was transferred in

2015 to Bangladesh by following which
procedure?

(a) By an agreement between the
Government of India and the
Government of Bangladesh

(b) By a legislation passed by the
Parliament amending Schedule 1 to
the Constitution of India

(c) By amending Schedule 1 to the
Constitution of India by exercising
amending power of the Parliament

(d) By amending Schedule 1 to the
Constitution of India by exercising
amending power of the Parliament
and ratification by sixteen State
Legislatures
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